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Caxe_crochets = 5000 N.m
Naxe_crochets =                  tr/min

Fvis =                  N
Vvis =                  mm/s

LEVIER
rendement ηlevier = 0,8
longueur = 300 mm

SYSTEME
VIS/ECROU

rendement ηvis/ecrou = 0,3
pas p     = 4 mm/trvis

REDUCTEUR
rendement ηred = 0,9
rapport r = 3/10

Cécrou =                  N.m
Nécrou =                  tr/min

Carbre =                  N.m
Narbre =                  tr/min

LIGNE DE 
TRANSMISSION

Cmoteur =                  N.m
Nmoteur = 1000 tr/min

rendement ηligne = 0,4
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